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1. In how many years will it take for an 355'? ’tt(.:
depreciate to 1/8® of its original value, if i
depreciation rate is 15%.

A 4years

B 12.8 years
C 13 years
D 104 years

2. Below is the list of answers given by students

as their favorite pet. Which is the frequency of
dog?.

Dog, Cat, Fish, Turtle, Cat, Rabbit, Turtle, Dog,
Cat, Dog, Cat, Dog, Dog, Turtle, Dog, Cat, Cow,
Fish, Rabbit, Dog, Cat, Dog, Cat, Cat, Dog,
Turtle, Rabbit, Cat, Fish, Dog, Turtle

A 5
B 7
C 38
D 10

3. When is the moving average method used for
measurement of a trend

A Trend is linear
B Trend is non linear
C  Trend is curvilinear
D  Trend is irregular
4. Which of the following methods is used to
calculate the Consumer Price Index?
A Laspeyres’s formula
B Fisher’s formula
C  Palgrave’s formula
D  Paache’s formula

S. Which is the meaning of the stateint ;
“price index of the base year con em%.
tot

A 25% of the price has in¢re e
current year in comparis ase

year
B 125% of the pfice haslincreased in the
current year in arison to the base

year
C 100(% ofithe pﬁc/e has increased in the
currentyear in comparison to the base

D of ﬁe price has increased in the
nt year in comparison to the base
car

A ws from X to 3X in N years. Given that
the rate of interest is 7% per annum. The value of
N to the nearest whole number is?

A 18 years
B 17 years
C 12 years
D 8.5 years

7. The standard deviation of thF distances x
traveled by a group of 30 cars is 8.6k, ( 'CET‘I)
the variance of their distances? is

A 33.65kmf
B 77.88km'2'
C 43.98km’
D 73.96km™
8) When a die is thrown, the

probability of getting a number
greater than 57 is?

e i et ST e

A 18
B 13
c 16
D 32

9) Ifthe probability that an objeet deopped from g~
certain height will strike the ground is 80 percent
and if 12 objects are dropped from the same place,

which is the mean and variane€.
A 96;19 * |

c sl
D 8.6%.8 -4

tribution is used for E(X) =2 ?
omial distribution

B Poisson's distribution

C  Bernoulli's distribution

D Laplace distribution
I1.IfP(x) =0.8 and x = 3, the value of E(x) is?

A 26

B 28

C 22

-.D__24

12. Which s the valy :

. 1 1S the value of A in Poisson's
distribution if the probability of getting a tajl

in a biased coin toss js Y i
awhen § ¢
tossed. Egs it

A 2
B 3 i
C 1
D 4 j
gr)ianct’:rshg zandom variables of AandB have |
-4 and 0.6, re i
2B. The value of K is? spectwely, ks S
A 22

B 44
C 66
D 33

e
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14h. If the diﬁerepce between C.1. and S.1. is 1.440
When the rate of interest i 12% per annum for a
! period of 2 years,

the amount of investment is ?
A 150,000fts

B 100,000 frs
C 250,000 frs ’
D 120,000 frs

i 55 _ Which of the following best describes an
e ~ annuity due?

A Payments are made quarterly
B ' Paymicnts are made annually
> C  Payments are made at the end of each
o period
D Payments are made at the beginning of
cach period
16. When Var (x) =2.25, Var (y) = 1 and Cov (x, y)
= 0.9, then correlation coefficient is

A 045
B 08
C 06
D 075

17. The coefficient of skewness of a distribution is
0.4. Its standard deviation and mean are
respectively 8 and 30. The mode of the
distribution is

A 26

B 262
C 264
D 289

18. Selection of a football team for CAN 2026/is?
A random sampling

B systematic sampling ()
.= C purposive sampling K

D cluster samplin '
19. The mean deviation apout ian of 28, 7, 16,
14,24, 15,34,30is

A 8
B 6 /
C 105
D
20. Whi ‘wm value (amount) of an
annyity payable for 20 year at the rate of
8% pound interest?
6,868
40,996
C 45700
D 51,160

21. For two mutually exclusive events A and B if
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22. Consider the following data

ﬂiﬁfi‘" 0-9 10-19 20-29 30-39  40-49 Total
No.of ° o %
students (f) 10 8 2 o15 s
Frequency density of the second class is

A 0.89

B 8

C:.-1

D 1

23, The necessary diagram to compare among the

various components or between a pm\tha
whole is:
A Bardiagram
B Step diagram ®
C Pie diagram 0
D Histogram
24. Tn Linear Programming, which is the

definition o sible region
A The points that satisfy the
. aints and maximize the
\ pjective function.
s o
B 90e set of all possible solutions
without considering constraints
C The set of points where at least one
constraint is violated.
D The set of all points that satisfy all
constraints
25. For the LP problem maximize z=2x + 3y The
coordinates of the corner points of the bounded
feasible region are A(3, 3), B(20,3), C(20, 10),
D(18, 12) and E(12, 12). The minimum value of z is

A 70
B 72
¢ I5
D 20

26.  If The banker’s discount due for 4 months

at 15% = 420. Then The true discount is:
A 460

B 400

C 380
D 360

27. The present value of an annuity of 1,000frs for
_ll years to begin with the maturity of a life
insurance policy at the end of 4 years reckoning
interest at 5% p.a. compound is;

P(A) = 34 snd P(B) = 1/6, then P(A or B) is A 7,178
A 1102 B 6,821.64
B 12 C 17,700
cC N D  7,634.23
D_1
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28. A machine is worth 10 % less at the end of
the year than at the beginning of the year, Which
is the valua of the machine after § years of use, if
the machine was bought for 4,000,000f¢fa

A 2,361, 9601t

B 2,761,960fcta

€ 3,861960fcfa

D 2,000,000 fa

29. Poisson distribution is applied for which

N
Vi "t\:

A Continuous Random Variable

B Discrete Random Variable

C  Trregular Random Variable

D Uncertain Random Variable

30. An engine -saw costing 1,000,000f¢cfa is

expectey (S havs 2 iesidual vaiue of
230,000fcfa afer Syers. The depreciation rate
on U3 diminishing balance method is?

A 8%

B 12%

C 242%

D 27.5%

31.Noa-negative condition in an Lincar
Programming model is?
A a positive coeflicient of variables in
objective function
B apositive coeflicient of variables in
any constraint
C  noa-nezgative value of recourse
D noa- positive value of the rec

31, Market value of 3,0001rs at
625% per annum is

A 2 8001rs
B 2,850fs ,
C 2.750frs

D 255064
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35, Suppose u person has t'{.rcd, 5 green, 12
orange, and 15 blue balls. Test thc'null hypothesis
that the colors ofll'nc‘balls occur with equal
frequency. The Chi Square value you can get jgy

A 56
B 5.68
C 5.86
D 5.8

' i in whether there js 5
36. A faculty Is interested in w .

relationship between gender and subject at his
c.o.llégc. He tabulated some men and women on

§ if theig,_subject was
campus and asked them 1 '
Mathematics (M), Geography (Q), d Science

c

(S). Which is the expected fre omen in

or based on this t
Geography M (?5 S Total
10 34

Women 10 14
y..,.4 14 47

Men 11 R
Total zQ 36 24 81

4

B

S ﬁ .l3 | AT
D_/10.07 -

3%, An instrument acknowledging the

ifdebtedness is

A Debenture
B Share
C  Stock

D Dividend
38. The rejection probability of Null Hypothesis *
when it is true is?
A level of Confidence
B Level of Significance
C  Level of Margin
D Level of Rejection
39. The level of significance is
A maximum allowable probabili
Type H error e
B maximum allowable robabil
maximum il
Type L error g adiol

C  same as the i

D same asthe CO:‘:;‘:‘C“CC e Nebint
#0. A statistician calculates 3 9597 confidence
nterval for y when o is known. The confide .nce
interval is 18,000FCFA 1o 22,000FCFA ‘h\"\"
amount of the sample meaq is; '

A 1R 000FCFA

B 20,000FCPA

€ DO6OFCFA

B _ A0l CFA
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1" _ji}gl. If the population proportion is 0.90 and a

5 sample of size 64 is taken, which is the probability
| ihat the sample proportion is more than 0.89?
s A 05019
I B 0.056
= C 0.5300
D 0.7019

LZ In a box, there are 8 oranges, 7 white, and 6
ilue balls. If a ball is picked up randomly, which |
S the probability that it is neither orange nor blue?

A 13

B 121
c 211
D 5/21

© 43. A company wants to set up a sinking fund to
. repay a loan of 10,000,000FCFA in 5 years. If the
~ sinking fund earn an annual interest rate of
- 6%.The amount the company should deposit into
- the sinking fund each year is?
A 1,174,000
B 1,560,000
C 1,254,000
D 2,000,000

" 44. The Effective rate that is equivalent to a nominal
rate of 16%.compounded semi-annually is

A 15.16
B 16.64
C 1832
D 20.24

45. Which is the amount that one can get from

each if the brokerage is 2.5%( Nominal Val

1000frs) \
625,000FCFA < )
780,000FCFA

858,000FCFA
866.800FCFA

(w @R --1 2

800,000fcfa worth of stock sold at 1,100frs ‘()

46.  The number of waysia 7 Jétters

(U,V,W,X,Y,Z A) bé placed in 3 empty places is

A 18 way

B 21

C 140 ways
0 ways

47. The rate per annum when 32,000fcfa yield 2
compound interest of 5,044fcfa in 9 months’
interest being compounded quarterly is?

A 80%

B 20%

C 50%

D 32%
48. A company
rate of 25%p.a on the reducing bala
an asset that cost 20,000fcfa.The ne

he end of the year is?

A 12,500 FCFA
B 5,000FCFA

C 15,000FCFA
D 11,400FCFA

49. REMI lent 5,000frs to KECH forx at
the rate of 5% per annum cOmpo est.

charges depreciation at the .
nce method on

t book value at

Which is the amount that REM Wi t after 3
years? ‘

A 5789 Q 3

B 5788.12

c Smff 0 |

D 357
50. Ifx: 9 = :499, (Tx+3y):(7x-3y) is

A, \5:2

B 43

e 113

D 37:19

END.
GO BACK AND CHECK YOUR WORK.
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